EARAROBREBRT —5 XN—ZXBISH—F

20224F3H9H (K) 18@KXFH3H

IR 7Y /o —TJ8X YS5R4RLEOP

‘(fﬁ} W ‘I%EH?’JF&] | & 1000 =

[AE%] 17 :13,000,000 F ~ 237&:4,550,000 . 337&:2,600,000H . 43%&:1,300,000 " ~ 57&:650,000

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— s 44 | fHEAEISE 1:24.1 2-2-2 | 36.6| — 1 513 | tEFE (1)
11111 f{/ FIR .E_ 57.0 =) (6) |KER_E
R:RIT4 B:7S5TR PS3FTTP—LA
w R w7 | FHEH 1:24.8 7-53  [37.1| - 2 | 476 | FELLBEEE (1VHR)
2 3 |/J_|\7|j’f ~ _ ‘ 57.0 G172 () | @) FRA—ZL—3>7 _
RT—VRFPU1—)L B:PIRNFTIAL (B) #EI-—RL—YavEET 7
%R 47 | BEX 1:25.3 1-1-1 [37.9| - 8 480 | FEARARL (V)
318|157 EAZXAEUY ‘ 57.0 Q1) o |BEN
RPURIA TSR B:I)EAR BRYS
UYISF 02 6 |BIR 1:(25).5 866 |37.6| — | 7 | 506 ;muﬁj (1Ivih)
o 1 = aBY
REVFOVY §:I—ILRLF— 2 iTas
N—RFLAZR i o4 %Egﬁﬂﬁi 1:25.9 4-7-7  |37.7| - 5 | 482 ﬁa—Emﬂ (1K)
. ) EEREE
RQRFIZHF—R BRUTAFY @) | s
~ A+ S 1:25.9 11-12-10 |37.0| - 10 | 493 | StEEE (KH)
Zr90vIR - 57.0 . =
; NF) » EHEEE
RBLASAN—K BEARLEYRILAR O | RNbEv ro7—0
NLF 4 %0 o6 ?;E%EE 1:(26).5 9-9-8  [38.1| — 4 | 489 ﬁ%gﬁg (IVHE)
. 3) - SHEBSE
RIIH—T U U—H—F 1) | €597—n
\ o6 | mESH 1:26.5 13-14-12 |37.4| - 11 | 490 |&&F (iE)
8|58l EAVA—Y 57.0 I _y) | FEFRER
RTUF—Y BEAUITSR @e) S
o7 | BlE% 1:27.0 10-10-9 [38.6| — | 12 | 474 |HAR—K (K#)
9713 78A7 57.0 @172 () |BOIIEE—
RiFvITFURo—L B:TIZVIRDY KIFERHUS
1017112/ 75 vona # 10 E;E%E?é 1:(27).2 14-13-12 [38.3| — | 13 | 537 |{EHHC CKH)
. 1 - = =
RS BRFAD 4RI D555
" : NPz # o4 | BHE 1(:27.)2 335 396 - | 6 | 513 g%éﬁaﬁ)
. NF 2
QURSFTI—LR B RASILUTT 00| Xibais
12159 | VI—DILY— o7 EE;%O?@:@ (1:27.5) 543 1399 - | 3 | 503 ﬁ#ﬂéf@\ (11#h)
. 11/2 &
RTSYIIAR BIRT—IRF—Y ) | D=3 k—zsm
o . e B9 | EWEER 1:27.6 N-11-11 [38.8| — | 14 | 464 |NEFEE (KH)
1391 2 zw ?Tﬁ b‘_‘ 55.0 @E) (3) |HLEH
RNDAZVT B:IWN—FAF Lt
) B8 | REE— 1:30.1 5-8-14 |41.6| — 9 | 467 |EEMEE (k)
4814 V9« 57.0 (519 G | 2T e S ama
RiIZAMNU—bEYR B:Tsd7T4r—F g—L JvINY - T7—LBRE
— 4 5 | BEEE - - - - - - | EEHR (KH)
8 7| Ab—==F4 55.0 o) _y | SR
] R:YOZAI4 TSR BITF—RANSAT ) gk E3
@ 1—F—&RIEL
13—7—
20—F— 15,1,4,5,(9,14) ,3,11,6,13, (2,10) ,8,12
30—7— 15,1,4,9,3,11,5,14,6,13,2,10,12,8
AS—f— 15,1, (3,9),4,11,5,6,13,10,2, (8,12) ,14
o ILRE
BB 1 230M JA R 1-3 2104 e B 1-2 430M 3EE 1-3-15 5,960M
B B 1 1309 1-15 2,020 (=1 1-2 770M 3EH 1-3-15 16,060/
3 120/ 3-15 1,690/ 5 & 1-3 420
15 510 =51 1-3 760M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




